S &
-:l http://farbe.li.tu-berlin.de/AEJ9/AEJOLONA.PDF /.PS; stavrt output 8 -:l
N: no 3D-linearization (OL) in file (F) or PS-startup (S)

TLS18 Reflection colorimetry, Syslem WCGa, L*ABJNDL*ABCh, Ynn = 2.52,L* nn = 18.01 Yiya = 88,6 | TLS70 Reflection colorimetry, Sys!em WCGa, L*“ABINDL*ABCh, Ynn = 40.32L* nn = 69.7 VWa =886

&¢& “indin

9P0J [eudrew gN.L

Colourr g b Y z X y Colourr g b
Ry 10 00 00 30.58(= 28 10+2.4) 18.3(=15.78+2.52)  6.88(=4.14+2.74) 0.5485 0.3282 Ry 10 00 00 54.13 -15 81+38.32) 49. 17( 8.85+40.32)  46. 22(‘ 32+43, 9) 0362 0.3284
Yo 10 10 00 64.32(=6193+2.4) 10.78(=8.03+2.74)  0.4339 0.4934 Ya 6(=34.74+38.32) 79.93(=39.61+40.32) 48.41 03628 0

TLS00 Reflection colorimetry, Sysﬁem WCGa, L*ABINDL*ABCh, Yin = 0 O.L*nn =0.0 vwa =886 TLS27 Reflection colorimetry, System WCGa, L*ABINDL*ABCh, Ynn = 5 04,L* nn = 26. 85 Yiwa = 88,6
Colourr g b Y y Colourr g b Y y
T % Ry 10 00 00 29. oz(_zg 02+40.0)  16.2¢ 0.5858 0.328 Rg 10 00 00 3215( 7 36+4.79) 20.36(=15.32+5.04) 9.5 _4 02+5. 49) 05184 0.
ol Yo 10 10 00 GI74-6374:00)  7269(-72690 0) 0.4405 04023 Yo 1010 00 CAOCGOILITO) TIGCGISEISON | 1329(78:549) 04270 0.
EPA Gy 00 10 00 B854(=854+0.0) 0.06+0.0) 0.2236 04253 Gy 23.95(=18.91+5.04) 14.52(=9.04+5.49)  0.2501 0.
3.8, Cy 00 1.0 10 18.75(=18.75+0.0) 6.28+0.0)  69.02(=69.02+0.0)  0.1644 0.p304 Cq 29.82(=24.78+5.04) 70.58(=65.1+5.49)  0.1828 0.
93 By Y .23400)  4.52(=4.52+00)  22.66(=22.66+0.0)  0.1865 0.]353 By 0.29(=4.25+5.04)  26.85(=21.36+5.49)  0.2277 O,
5 Mg 10 00 10 3247(=3247+0.0) 1696(=16.96+0.0) 23.05(-23.05+0.0) 0448 0434 Mg X 21.03(=15.99+5.04) 27.22(=21.73+5.49)  0.4232 0.
5= 002(=002+0.0)  002(=002+0.0)  0.3328 0.3328 NOy 48(=001+479)  505(-001+504)  55(=0014549) 03127 0329 5 =+
o= 88.6(=88.6+0.0) 96.48(=96.48+0.0)  0.3127 0.329 WOy 1.0 1.0 1.0 B8421(=79.42+4.79) B88.6(=83.56+5.04)  96.48(=90.99+5.49)  0.3127 0.529—, D
S0 0.02(=002+0.0)  002(=002+0.0)  0.3328 0.3328 Nig 00 00 00 48(-0.01+479) 5050011504  55(-001+6.49) 03127 0320 O 5
39 1000(=100.0+0.0)  108.9(=1089+0.0)  0.3127 0829 Wig 9.64+4.79) 99.35(-04.31+5.04) 108.19(=102.71+5.49) 0.3127 43245 5
L= 18.01(=18.01+0.0)  19.61(=19.61+0.0)  0.3127 0,829 714 6.14+4.79) 22.02(=16.98+5.04) 23.97(=18.49+45.49) _ 0.3127 0329 * N
56 e S
3= [TLS06 Reflection colorimetry. SYS‘E”‘ WCGa, L*ABINDLIABCH, Ynin = 0.63L" n = 5.69 Ywa = 88,6 TLS38 Reflection colorimetry, Sys\em WCGa, L"ABINDL-ABCh, Yy = 100817y = 3799 wa =884 N
=37} (Colour r g Y z Colourr g b N z X =Q
2g Ry 10 00 00 294( s 6)  16.75(=16.1240. 05757 0.428 Ry 10 00 00 24.47(-14.39+10.08) 14.76(=3.78+10.98)  0.4689 03318 |
=2 Y¢ 10 10 00 72.8(=72.17+0.63) 0.4388 0.4001 Ya 10 10 00 74.5(=64.42+10.08) 18.31(=7.33+10.98) 0.415 0}69F, O
o Gy 00 10 00 20.54(=19.91+0.63) 02278 04159 Gg 00 10 00 7.77+10.08) 19.47(=8.49+10.98)  0.2555 04382
o< Cs 00 10 10 26.71(=26.08+0.63) - 01668 0,032 Cq 00 10 10 33.36(=23.28+10.08) 72.15(=61.17+10.98) 0.1941 0]254% T>
& By 00 00 10 511(=4.48+0.63)  23.18(-22.49+0.69) 0.1833 0.4457 By 00 00 10 08)  3105(-20.08+10.98) 0.2389 023745 [T
: Mg 10 00 10 17.46(=16.83+0.63)  23.57(=22:8810.69)  0.4445 0364 Mg 10 00 10 251(=15.02+10.08) 314(=2042+1098) 0.4004 0663 &
z NOs 00 00 00 0:64(=0.01+0.63) 0L+ 03128 0.3282 NOg 10,09(=001+10.08) 10.99(=0.01+10.98) 0.2895 0.paof) L
T3 WOy 10 10 10 B84.21(-83.61+0.6) B8B.6(=67.97+0.63) 0.3127 0.829 oy 6(-78.52+10.08) 96.48(-8551+10.98) 0.3127 03256 B>
g2 Nlg 00 00 00 061(=0.01+06)  064(=0.01+0.63)  0.7(=0.01+0.69) 03128 0.4282 Nig 01+1008) 1099(-0.01+10.98) 02895 0.p40% [T1
2o Wiy 113 113 113 94.97(=94.37+0.6) ~99.92(=99.20+0.63) 108.81(=108.13+0.69) 03127 0|329 Wiy 8.62+10.08) 107.49(=96.51+10.98) 0.313 0[3289 {5
5 % 5‘1‘, 0.18 0.18 0.18 17.59(=16.99+06) 185(=17.87+0.63) 20.15(=19.46+0.69) 0.3127 0329 214 0.8 0.18 0.18 23.95(=14.37+9.58) 26.03(=15.95+10.08) 28.35(=17.37+10.98) 0.3057 03383 g
o o5 R ]
g %  TLS11 Reflection colorimetry, System WCGa, L*ABJNDL*ABCh, Ynn = 1.26,L*nn = 11.0 Yiya = 88,6 [TLS52 Reflection colorimetry, System WCGa, L*ABJNDL*ABCh, Ynn = ZO 16L* np = 52.02 VWa = 88, '?' E
>m Colourr g Y Z X y Colourr g b X X (=R
Z Ry 10 00 00 17.27(=16.01+1.26) 5,57/ 0.5661 04281 Ry 10 00 00 +19.16) 077 0
5 ¢ Yo 10 10 00 72.92(=71.66+1.26) 9.5 04372 04978 Yo 10 10 00 6840 Pyt 16) 03953 0
=T Gs 00 10 00 9.76+126) 10.81(=0.44+137)  0.2318 05073 Ga 59+19.16) 0.2837 0,
= Cs 00 10 10 5.9+1.26)  69.41(=68.04+1.37)  0.1692 0.2336 Cq .48+19.16) 40.45(=20.29+20.16) 75.27(=53.32+21.95) 0.2252 0|
ISES By 00 00 10 5 71( 4.45+126)  23.7(=22.33+1.37)  0.1996 0.]553 By 00 00 10 23.96(=48+19.16) 2364(=3.48+20.16) 39.45(=17.5+21.95) 0.2753 0.
e Mg 10 00 10 17.97(=16.71+1.26) 24.08(=22.71+1.37) 0.4412 0.388 Mg 23(=25.07+19.16) 33.25(=13.00+20.16) 30.75(=17.8+21.95) 03773 0[283Q
N Nog 0.0 00 0.0 . 0.3135 0.429 NOy . 01+21.95) 0.3127 0{
© wa 10 10 10 86.6(-67.34+1.26) 96.48(=95.11+137)  0.3127 029 Wy ¥ 5.05+19.16) 88.6(=68.44+20.16) 96.48(=74.53+21.95) 0.3127 0|
g Nlg 00 00 00 121(-001+12)  127(-001+126)  138(=0.01+137) 03135 0.329 Nlg 00 00 00 19.17(=001+19.16) 20.17(=0.01+20.16) 2196(=0.01+2195) 03127 Of
¢ Wiy 113 113 113 94.9(=93.7+412)  99.84(=98.58+1.26) 108.72(=107.35+1.37) 0.3127 0[329 Wi 3.42+19.16) 97.41(=77.25+20.16) 106.08(=84.13+21.95) 03127
@ 714 018 0.18 018 18.07(=16.87+1.2) 19.0(=17.74+1.26) _ 20.69(=19.32+1.37)  0.3128 0329 214 3.22+19.16) 34.06(=13.9420.16) 37.09(=15.14+21.95) 03127
N
)
o
3
o
=

Gy 00 10 00 10.69(=8.29+2.4)  22.0(=19.48+2.52)  12.05(=9.3+2.74) 0.2389 0.4918 Gg O - - 65+38.32)  51.25(=10.93+40.32) 49.12 0.2998 0.857n
Cg 00 1.0 10 2061(=18.21+2.4) 28.04(=25.52+2.52) 69.8(=67.06+2.74)  0.174 0.p368 Cq 0.21+38.32) 54.64(=14.32+40.32) 81.52 0.2628 0[295D
By 00 00 10 B8.44(=6.05+2.4) 2.0+2.74) 02106 04722 By 0.2964 08043
Mg 10 00 10 33.93(=3154+2.4) 25.13(-22.38+2.74) 04348 0.p433 My 03457 030s®
NOs 0.0 00 00 241(=001+42.4)  253(=0.01+2.52) 01+274) 03134 0.329 NOy 03127 0208
WO 10 10 10 84.21(=81.82+24) 88.6(=86.08+252) 829 Wy 03127 08295 }
41(=0.01+2.4)  2.53(=0.01+2.52) 29 Nig 01+38.32)  40.33( 03127 08295 =
. . 99,68(=97.16+2.52) 3 329 Wiy 1. . 1.8+438.32) 94.81(=54.49+40.32) 103.25(=59.35+43.9) 0.3127 0329 ,
71y 0.8 0.8 0.18 19.02(=16.63+2.4)  20.01(=17.49+2.52) 21.78(=19.04+2.74)  0.3128 0[329 14 0.8 0.18 0.18 47.64(=9.32+38.32) 50.13(=9.81+40.32) 54.58(=10.68+43.9) 0.3127 0|

Test chart AEJ9; Reflection colorimetry for displays TLS00..TLS70 input: rgh/cmy0/000n/k
= L*ABJIND- L*ABCtgbdata for Offs dewcé(Nn— 0 to 40 L*Nn 0to 70, adaptanomWa—SS 6 5
E £




